OIC-LAN H—/\ R H] 3
( e RETTRL ' AH—/\ [BhfES+ Hifhe]
BaRERI R
BIRT VLR RAVNER
[R#877547A] R8T YAA Y]
ﬂifgﬂ:%% %IE vCerl1ter Server OS:Windows 11 Pro
_H__/{VCenter Appliance 7.x vCPU: 2
. vMem: 8GB
RBYYv2A )] vHDD: 300GB
vCPU: 2 VNIC: x 1
vMem: 12GB NOC (xx.xx.Xxx.Xx)
vHDD: 600GB
| vNIC: X1 RykD—4H
- — E ek
manage
[BHR~RY]
-UCSC-C220-M5SX
*O0S:VMware ESXi 7.x
*CPU:Intel 4210 2.2GHz/85W (BN S e DHHE] [BhFSE DHHE] [EHFSE DHEE]
10C/13.75MB DDR4 2400MHz ActiveDirectory ActiveDirectory 9547 PC [Eh4E = 48 8EE]
*Mem: 16GB DDR4-2933-MHz REBDNS(ADHEE) REBDNS(ADHEE) A ILARE DNSH—/1 [BhfES & 2HRE] [EFE & HHAE]
RDIMM/1Rx4/1.2v DHCP/Radius DHCP/Radius JaFoH—n JaFoH—n SNMP Trap Ly—n
“HDD:1 TB 6G SATA 7.2K RPM SFF x2 [riBvyvAAYY] MrfBvovAnys] REBIYVAAYI] T DOOYIRE (R8T 7°F4TVA]
(RAID1) 0S:Windows Server 0S:Windows Server 0S:Windows Server {RABIYYAAYY] {RABIYYAAYY] OpManager
*NIC: 1000bps X 27—k 2022 Standard 2022 Standard 2022 Standard OS:RHEL OS:RHEL [r#EvovAAYH]
R —1=yrRE vCPU: 2 vCPU: 2 vCPU: 2 VvCPU: 2 VvCPU: 2 0S:CentOS 6 HRETYYAAS]
*Cisco Integrated Management Controller vMem: 8GB vMem: 8GB vMem: 16GB vMem: 4GB vMem: 4GB vCPU: 1 vCPU: 4
vHDD: 300GB vHDD: 300GB vHDD: 300GB vHDD: 150GB vHDD: 150GB vMem: 4GB vMem: 8GB
[EnfEdt AHEEE] vNIC: X2 vNIC: X2 vNIC: X2 vNIC: X2 vNIC: X2 vHDD: 500GB vHDD: 500GB
CIFST7AILES Enterprise(xx.xx.xX.XX) Enterprise(xx.xx.xx.xx) Enterprise(xx.xx.xx.xx) DMZ(xx.xx.XX.XX) Enterprise(xx.xx.xx.xx) vNIC: X1 vNIC: X 1
NAS Backup(xx.xx.xx.xx) Backup(xx.xx.xx.xx) Backup (xx.xx.xx.xx) Backup(xx.xx.xx.xx) Backup (xx.xx.xx.xx) NOC(xx.xX.xX.XX) NOC (XX.XX.XX.XX)
RO | RES-N® | kFauTd N FTaEen | Ay i
< #7054 SR —/N
DC1 DC2 H—/\ DNS c—Proxy Log—sv OoM
[BHHARYY] ) ) pManager
Buffalo WSH5420RN12S9
*OS:Windows Server IoT 2019
for Storage Standard ﬂiﬁ’[t%ﬁ [ EHER]
*CPU:Intel Atom C3338 Visrv SINAIR—AVN—=UR AU TF HX-E-220M6S X T RRARYI DY —/\M 25155,
*Mem:8GB =CPU: Intel 4310 2.1GHz/120W 12C/18MB DDR4 2667MHz x2
HDD:32TB(A R &) *Mem: 192GB
*NIC:1000Base-T x 27:RK—h i *NIC: 10GbE SFP+ X2, 1000bps X2
10GBase-T x 17—k ][O % i - “Disk: 1.8TB x 3, 480GB HDD X 1
— b D —1ZvbR
— &, L | [REL—2ZRR Y]
NW%:EEXT_/E ./PC@ ][Q ©), e " HL CEHAEE: 45TB
manage—note1 [Hypervisor]
-VMware vSphere 7.x Standard
IP7RL R: NOC (xx.xX.XX.XX) 2R ANTD HA Y5 R4A
=10GbE NIC x 2 #FL\T. NOC, Enterprise, Backup 124" A2 k& T HyperFlex EdgeE#A/ Ny EEIE
NWEIEXT— 3 PCQ . [ZRLR#ER] %L TNOCES AV
_ 2 v "Lm!_, & IR X (Hypervisor, ControlerVM, CIMC): VIsrv1 (xx.xx.XX.Xx)
manage—note i ennnnnnnnnee 1Y ol (ol e - ) o) 55 VIsrv2 (XX.XX.XX.XX)
IP7RLX: NOC (xx.xx.xX.XX) AVrAZ—VMRETZFL X Visrv VIP (xx.xx.xx.xx)




